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QUESTION 1

A potential Branch Reflector has ample disk space to store base layers, application layers, driver libraries, and User
State Migration Tool (USMT) files. 

Which other conditions are required for an endpoint to become a Branch Reflector? 

A. ·Power-saving features enabled·Directly connected to the LAN·TCP port 8001 to support connections from other
Mirage endpoints 

B. ·Power-saving features disabled·Directly connected to the LAN·TCP port 8001 to support connections from other
Mirage endpoints 

C. ·Power-saving features disabled·Directly connected to the WAN·TCP port 8000 to support connections from other
Mirage endpoints 

D. ·Power-saving features enabled·Directly connected to the wireless network·TCP port 8001 to support connections
from other Mirage endpoints 

Correct Answer: B 

 

QUESTION 2

An administrator needs to view Windows 7 Virtual Desktops from the vSphere Console while a user has a PCoIP
session to the Virtual Desktop. 

When the administrator opens a vSphere Console to a Virtual Desktop, the Console screen is black. The administrator
enables the Session Variable Enable access to a PCoIP session from a vSphere console. However, a black screen still
appears when the administrator opens in the vSphere Console to the Virtual Desktops. 

What is preventing the Virtual Desktop from showing in the vSphere Console? 

A. The Virtual Desktop Hardware Version is 9. 

B. The Virtual Desktop Hardware Version is 7. 

C. The Virtual Desktop Hardware Version is 8. 

D. The Virtual Desktop Hardware Version is 10. 

Correct Answer: B 

 

QUESTION 3

An administrator has provisioned a web application to a group of users. Users have reported that the application is not
visible in the Applications tab when the user launches Workspace Portal. 

Which steps must the administrator take to ensure the application is entitled properly? 

A. ·Verify that the application is SAML-enabled.·Verify that the application is entitled to a directory service-based
Workspace Portal group or user. 
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B. ·Verify that the application is set to Automatic.·Verify that the application is entitled to a directory service-based
Workspace Portal group or user. 

C. ·Verify that the application is set to User-Activated.·Verify that the application is entitled to a local Workspace Portal
group or user. 

D. ·Verify that the Workspace Portal client is installed on the endpoint.·Verify that the application is entitled to a local
Workspace Portal group or user. 

Correct Answer: B 

 

QUESTION 4

Users at a branch office are experiencing poor virtual desktop performance. The branch office has ten users and a
2Mbps link to the datacenter. 

Some of the users frequently access video content, but the performance issues began occurring after a recent Group
Policy Object (GPO) change. The performance issues do not occur when the same users connect from the main office,
which has a 10Mbps link to the data center. 

Which PCoIP GPO change is most likely the cause of the performance issues? 

A. Turn off Build-to-Lossless = Enabled 

B. PCoIP session audio bandwidth limit = 100kbps 

C. PCoIP client image cache size = 260MB 

D. Maximum PCoIP session bandwidth = 4Mbps 

Correct Answer: D 

 

QUESTION 5

An administrator is granted access to a vCenter Server with a custom Active Directory user account. The user account
should have the required permissions for full management of the View environment. However, when the administrator
attempts to enable View Storage Accelerator, permission is denied. 

Which View privilege within vCenter Server needs to be configured? 

A. Storage Views > View 

B. Global > Act as vCenter Server 

C. Host.Configuration > Advanced settings 

D. Virtual Machine.Configuration > Modify device settings 

Correct Answer: B 

 

QUESTION 6
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An administrator needs to create an alarm to monitor when a specific ESXi host in an HA/DRS cluster becomes
disconnected from other vSphere components like HA agents or the vCenter server. 

Which process must the administrator use to accomplish this? 

A. Define a Host type alarm, monitor for the event Cannot connect host, and supply a conditional trigger on Host name
equal to a specific label. 

B. Define a Cluster type alarm, monitor for the event Cannot connect host, and supply a conditional trigger on Host
name equal to a specific label. 

C. Define a Cluster type alarm, monitor for the event Host status changed, and supply a specific label for each host. 

D. Define a Host type alarm, monitor for the condition Host status changed, and supply a specific label for each host. 

Correct Answer: A 

 

QUESTION 7

Which setting will allow a remote desktop session to be monitored by an administrator? 

A. Enable Access to a PCoIP session from a vSphere console 

B. Enable session shadowing of a PCoIP session from a vSphere console 

C. AllowDirectRDP 

D. AllowSingleSignon 

Correct Answer: A 

 

QUESTION 8

An administrator needs an Active Directory service account to use for Quickprep. The organization\\'s policies do not
allow the service account to create new computer accounts in Active Directory. Pre- existing computer accounts must
be reused. 

Which three Active Directory permissions are required for the service account? (Choose three.) 

A. List Contents 

B. Read All Properties 

C. Delete Computer Object 

D. Reset Password 

E. Write All Properties 

Correct Answer: ABD 
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QUESTION 9

A customer needs a datastore to be seen across multiple vSphere clusters with applications inside of the virtual
machines that must detect the physical characteristics of the storage device. 

Which type of virtual disk meets this requirement? 

A. A virtual disk on a VMFS datastore 

B. A raw device mapped disk in virtual compatibility mode 

C. A raw device mapped disk in physical compatibility mode 

D. A virtual disk on an NFS datastore 

Correct Answer: C 

 

QUESTION 10

An administrator is configuring RADIUS authentication for a View implementation and enters the RADIUS server host
name into the View Administrator console. 

Which additional information must be entered into View Administrator to properly configure RADIUS? 

A. Port number, authentication type, and shared secret 

B. DNS server, port number, and shared secret 

C. Authentication type, shared secret, and public key 

D. Public key, authentication type, and shared secret 

Correct Answer: A 

 

QUESTION 11

Refer to the exhibit. 

Based on the exhibit, which two paths are used for PCoIP traffic? (Choose two.) 

A. Path A 

B. Path B 

C. Path C 

D. Path D 

Correct Answer: AC 

 

QUESTION 12
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An administrator enables Persona Management for a desktop pool and leaves the universal naming convention (UNC)
path blank in the session variable Persona Repository Location. 

What is the likely outcome? 

A. The User Profile will not be created. 

B. The User Profile will be created but when users log on again their files will not be available. 

C. The User Profile Path in Active Directory will be used. 

D. The User Profile Path will default to the local My Documents. 

Correct Answer: C 

 

QUESTION 13

A system administrator needs to control the allocation of memory and CPU resources to an organization\\'s 

Finance team. The vSphere environment is built on a single cluster of ESXi hosts. 

Which feature can be used to accomplish this task? 

A. Resource Pool Reservations 

B. DRS set to Fully Automated 

C. Virtual Machine Shares 

D. DRS Virtual Machine Groups 

Correct Answer: A 

 

QUESTION 14

An administrator needs to provide access to a View virtual desktop for users in Domain A and Domain 

A. How should the administrator configure the domains and the View implementation? 

B. Install a View Connection Server in a resource domain and create a one-way trust to both Domain A and Domain B. 

C. Install a View Connection Server in Domain A and create a one-way trust to Domain B. 

D. Install a View Connection Server in Domain A and create a two-way trust between Domain A and Domain B. 

E. Install a View Connection Server in a resource domain and create a two-way transitive trust between Domain A and
Domain B. 

Correct Answer: C 

 

QUESTION 15
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A system administrator is unable to clone a Windows 2008 server while connected directly to an ESXi host through the
vSphere Client. 

Which two methods can be used to complete this task? (Choose two.) 

A. Connect to vCenter Server and retry the operation. 

B. Use VMware Converter to perform the operation. 

C. Connect to the host using the Web Client and retry the operation. 

D. Use VMware Configuration Manager to perform the operation. 

Correct Answer: AB 
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